FIXED POINTS OF CONTRACTIVE MAPPINGS ON COMPLETE CONE METRIC SPACES

I Sahin^{*} and M. Telci^{*}

Received 06:11:2008: Accepted 09:01:2009

Abstract

In this paper we present some fixed point results for contractive mappings in complete cone metric spaces. Under special conditions, our results are generalizations of the results of Huang Long-Guang and Zhang Xian (*Cone metric spaces and fixed point theorems of contractive mappings*, J. Math. Anal. Appl. **332**, 1468–1476, 2007), and Sh. Rezapour and R. Hamlbarani (*Some notes on the paper "Cone metric spaces and fixed point theorems of contractive mappings"*, J. Math. Anal. Appl. **345**, 719–724, 2008).

Keywords: Cone metric space, Complete cone metric space, Fixed point.

2000 AMS Classification: 47 H 10, 54 H 25.

1. Introduction

It is well known that the classic contraction mapping principle of Banach is a fundamental result in fixed point theory. Several authors have obtained various extensions and generalizations of Banach's theorem by considering contractive mappings on many different metric spaces. For example, [2, 4, 5, 6, 7, 8, 9, 11], and others. Recently, Guang and Xian [3] introduced the notion of cone metric spaces and proved some fixed point theorems in cone metric spaces for mappings satisfying various contractive conditions. In [10], Rezapour and Hamlbarani generalized some results of [3] by omitting the assumption of normality in the results.

The main purpose of this paper is to present some fixed point results for contractive mappings in complete cone metric spaces.

^{*}Department of Mathematics, Trakya University, 22030 Edirne, Turkey. E-mail: (İ. Şahin) isahin@trakya.edu.tr (M. Telci) mtelci@trakya.edu.tr

2. Preliminaries

Throughout this paper, we denote by $\mathbb N$ the set of positive integers and by $\mathbb R$ the set of real numbers.

2.1. Definition. Let E be a real Banach space and P a subset of E. Then P is called a *cone* if and only if:

- (i) P is closed, nonempty and satisfies $P \neq \{0\}$,
- (ii) $a, b \in \mathbb{R}, a, b \ge 0, x, y \in P$ implies $ax + by \in P$,
- (iii) $x \in P$ and $-x \in P$ implies x = 0.

Given a cone $P \subseteq E$, we define a partial ordering \leq with respect to P by $x \leq y$ if and only if $y - x \in P$. We shall write x < y if $x \leq y$ and $x \neq y$, and $x \ll y$ if $y - x \in int P$, where int P is the interior of P.

The cone P is called *normal* if there is a number K > 0 such that for all $x, y \in E$,

$$0 \le x \le y$$
 implies $||x|| \le K ||y||$.

The least positive number satisfying the above is then called the *normal constant* of P.

2.2. Lemma. ([12]) Let E be a real Banach space with a cone P. Then:

- (i) If $x \leq y$ and $0 \leq a \leq b$, then $ax \leq by$,
- (ii) If $x \leq y$ and $u \leq v$, then $x + u \leq y + v$,
- (iii) If $x_n \leq y_n$ for each $n \in \mathbb{N}$, and $\lim_{n \to \infty} x_n = x$, $\lim_{n \to \infty} y_n = y$, then $x \leq y$.

2.3. Lemma. If P is a cone, $x \in P, \alpha \in \mathbb{R}$, $0 \le \alpha < 1$, and $x \le \alpha x$, then x = 0.

Proof. If $x \leq \alpha x$, then $\alpha x - x = (\alpha - 1)x \in P$. Since $x \in P$ and $0 \leq \alpha < 1$, we have, from Definition 2.1. (ii), $(1 - \alpha)x \in P$. It follows from Definition 2.1. (iii) that x = 0. \Box

In the following definition, we suppose that E is a real Banach space, P a cone in E with int $P \neq \emptyset$ and that \leq is the partial ordering with respect to P.

2.4. Definition. Let X be a non-empty set. Suppose the mapping $d: X \times X \to E$ satisfies:

- (d1) $0 \le d(x,y)$ for all $x, y \in X$ and d(x,y) = 0 if and only if x = y,
- (d2) d(x,y) = d(y,x) for all $x, y \in X$,

(d3) $d(x,y) \le d(x,z) + d(z,y)$ for all $x, y, z \in X$.

Then d is called a *cone metric* on X, and (X, d) is called a *cone metric space*. This definition is more general than that of a metric space.

2.5. Example. Let $E = \mathbb{R}^2$, $P = \{(x, y) \in E : x, y \ge 0\} \subset \mathbb{R}^2$, $X = \mathbb{R}^2$ and suppose that $d: X \times X \to E$ is defined by

$$d(x,y) = d((x_1, x_2), (y_1, y_2)) = (|x_1 - y_1| + |x_2 - y_2|, \alpha \max\{|x_1 - y_1|, |x_2 - y_2|\}),$$

where $\alpha \geq 0$ is a constant. Then (X, d) is a cone metric space.

3. Definitions and lemmas

In this section we shall give some definitions and lemmas.

3.1. Definition. [3] Let (X, d) be a cone metric space. A sequence $\{x_n\}$ in X is said to be:

(a) A convergent sequence if for every $c \in E$ with $0 \ll c$, there is $N \in \mathbb{N}$ such that for all $n \geq N$, $d(x_n, x) \ll c$ for some fixed x in X. We denote this by $\lim_{n\to\infty} x_n = x$ or $x_n \to x$, $n \to \infty$.

60

(b) A Cauchy sequence if for every $c \in E$ with $0 \ll c$, there is $N \in \mathbb{N}$ such that for all $n, m \geq N$, $d(x_n, x_m) \ll c$.

A cone metric space (X, d) is said to be *complete* if every Cauchy sequence is convergent in X.

The following lemma was recently proved without assuming normality in [1].

3.2. Lemma. Let (X, d) be a cone metric space. If $\{x_n\}$ is a convergent sequence in X, then the limit of $\{x_n\}$ is unique.

The proof of the following lemma is straightforward, and is omitted.

3.3. Lemma. Let (X, d) be a cone metric space, $\{x_n\}$ a sequence in X. If $\{x_n\}$ converges to x and $\{x_{n_k}\}$ is any subsequence of $\{x_n\}$, then $\{x_{n_k}\}$ converges to x.

3.4. Lemma. Let (X,d) be a cone metric space and $\{x_n\}$ a sequence in X. If there exists a sequence $\{a_n\}$ in \mathbb{R} with $a_n > 0$ for all $n \in \mathbb{N}$ and $\sum a_n < \infty$, which satisfies $d(x_{n+1}, x_n) \leq a_n M$ for all $n \in \mathbb{N}$ and for some $M \in E$ with $M \geq 0$, then $\{x_n\}$ is a Cauchy sequence in (X, d).

Proof. Let n > m. Then

(1)
$$d(x_n, x_m) \leq d(x_n, x_{n-1}) + d(x_{n-1}, x_{n-2}) + \dots + d(x_{m+1}, x_m)$$
$$\leq (a_{n-1} + a_{n-2} + \dots + a_m)M$$
$$= M \sum_{k=m}^{n-1} a_k.$$

Take $c \in E$ with $0 \ll c$. Choose $\varepsilon > 0$ such that $c + N_{\varepsilon}(0) \subseteq P$, where

 $N_{\varepsilon}(0) = \{ y \in E : \|y\| < \varepsilon \}.$

Since $\sum_{n=1}^{\infty} a_n < \infty$, we can choose a sufficiently large natural number N such that

$$\Big|\sum_{k=m}^{n-1} a_k\Big| \|M\| = \left\|M\sum_{k=m}^{n-1} a_k\right\| < \varepsilon,$$

for all $n > m \ge N$. Therefore, we have $M \sum_{k=m}^{n-1} a_k \in N_{\varepsilon}(0)$ and $-M \sum_{k=m}^{n-1} a_k \in N_{\varepsilon}(0)$, for all $n > m \ge N$. Hence $c - M \sum_{k=m}^{n-1} a_k \in c + N_{\varepsilon}(0)$ and so $c - M \sum_{k=m}^{n-1} a_k \in int P$, for all $n > m \ge N$. Thus, $M \sum_{k=m}^{n-1} a_k \ll c$, for all $n > m \ge N$. Then from inequality (1), we have $d(x_n, x_m) \ll c$, for all $n > m \ge N$. Therefore, $\{x_n\}$ is a Cauchy sequence in (X, d).

4. Fixed points on complete cone metric spaces

The following theorems were proved in [3].

4.1. Theorem. Let (X, d) be a complete cone metric space with normal cone P and normal constant K. Suppose the mapping $T: X \to X$ satisfies the contractive condition (2) $d(Tx,Ty) \leq k(d(Tx,x) + d(Ty,y)),$

for all $x, y \in X$, where $k \in [0, \frac{1}{2})$ is a constant. Then, T has a unique fixed point in X. For each $x \in X$, the iterative sequence $\{T^n x\}$ converges to the fixed point.

4.2. Theorem. Let (X, d) be a complete cone metric space with normal cone P and normal constant K. Suppose the mapping $T: X \to X$ satisfies the contractive condition

(3)
$$d(Tx,Ty) \le k(d(Tx,y) + d(x,Ty))$$

for all $x, y \in X$, where $k \in [0, \frac{1}{2})$ is a constant. Then, T has a unique fixed point in X. For each $x \in X$, the iterative sequence $\{T^n x\}$ converges to the fixed point. Note that there are cones which are not normal, see [10]. In [10], Rezapour and Hamlbarani proved Theorem 4.1 and Theorem 4.2 without the normality condition.

Now suppose that E is a Banach space and P a cone in E. For $a, b, c \in E$ we will denote the proposition $(a \leq b) \lor (a \leq c)$ by $a \leq b \lor c$. Moreover, for $r \in \mathbb{R}$, $a \leq r(b \lor c)$ will denote $(a \leq rb) \lor (a \leq rc)$.

This notation is convenient because we do not have to repeat the left-hand element, but it must be stressed that $b \bigvee c$ has no meaning outside these expressions. In particular the only case where there exists an *element* d of E for which $a \leq b \bigvee c$ is equivalent to $a \leq d$ for all a is when b and c are comparable and $d = b \lor c = \max\{b, c\}$.

We now note that if d(Tx, x) and d(Ty, y) are comparable, then

$$d(Tx, x) + d(Ty, y) \le 2[d(Tx, x) \lor d(Ty, y)]$$

Similarly, if d(Tx, y) and d(Ty, x) are comparable, then

$$d(Tx, y) + d(Ty, x) \le 2[d(Tx, y) \lor d(Ty, x)].$$

In this case, if inequalities (2) and (3) hold, then we obtain, respectively, the inequalities

 $d(Tx, Ty) \le k[d(Tx, x) \lor d(Ty, y)]$

and

$$d(Tx, Ty) \le k[d(Tx, y) \lor d(Ty, x)]$$

where $k \in [0, 1)$. These inequalities can hold for some $k \in [0, 1)$ even if (2) or (3), respectively, do not hold for some $k \in [0, \frac{1}{2})$ (see Examples 5.1, 5.2 below). Moreover, replacing \vee by \bigvee in the above inequalities gives us two more general conditions that are well defined even when d(Tx, x), d(Ty, y) (resp. d(Tx, y), d(Ty, x)) are not comparable. It is these conditions that form the basis of the following theorems.

4.3. Theorem. Let T be a mapping on the complete cone metric space X into itself that satisfies the inequality

(4)
$$d(Tx,Ty) \le k \left\lfloor d(Tx,x) \bigvee d(Ty,y) \right\rfloor,$$

for all $x, y \in X$, where $0 \le k < 1$. Then T has a unique fixed point in X. For each $x \in X$, the iterative sequence $\{T^n x\}$ converges to the fixed point.

Proof. Let x be an arbitrary point X. If $T^{n+1}x = T^n x$ for some n, then T has a fixed point. Assume $T^{n+1}x \neq T^n x$ for each n. Using inequality (4), we have

$$d(T^{n+1}x, T^{n}x) \le k \Big[d(T^{n+1}x, T^{n}x) \bigvee d(T^{n}x, T^{n-1}x) \Big].$$

If $d(T^{n+1}x, T^nx) \leq kd(T^{n+1}x, T^nx)$, then from Lemma 2.3 we have $d(T^{n+1}x, T^nx) = 0$, since k < 1, which contradicts our hypothesis. Therefore we have

$$d(T^{n+1}x, T^nx) \le kd(T^nx, T^{n-1}x)$$

In general

$$d(T^{n+1}x, T^nx) \le k^n d(Tx, x)$$

for all $n \in \mathbb{N}$. Since $\sum_{n=1}^{\infty} k^n < \infty$, it follows from Lemma 3.4 that $\{T^n x\}$ is a Cauchy sequence in the complete cone metric space (X, d) and so has a limit z in X.

Now let $c \in E$ with $0 \ll c$. Choose a natural number N such that $d(T^n x, z) \ll c(1-k)$ and $d(T^n x, T^{n-1}x) \ll c$ for all $n \ge N$. From condition (d3) we have

(5)
$$d(Tz,z) \le d(Tz,T^n x) + d(T^n x,z)$$

for all $n \ge N$, and from condition (4),

$$d(Tz, T^{n}x) \leq k \Big[d(Tz, z) \bigvee d(T^{n}x, T^{n-1}x) \Big].$$

Now we have to consider, for each $n \ge N$, the following two cases:

Case 1. If $d(Tz, T^n x) \leq kd(Tz, z)$, then from (5), we have

$$d(Tz,z) \le \frac{1}{1-k}d(T^nx,z) \ll c.$$

Case 2. If $d(Tz, T^n x) \leq kd(T^n x, T^{n-1}x)$, then from (5), we have

$$d(Tz, z) \le d(T^{n}x, z) + kd(T^{n}x, T^{n-1}x) \ll c(1-k) + ck = c.$$

It now follows from Cases 1 and 2 that $d(Tz, z) \ll c$. For fixed $0 \ll c$, we have $0 \ll \frac{c}{m}$ for all $m \in \mathbb{N}$. Thus $d(Tz, z) \ll \frac{c}{m}$, for all $m \in \mathbb{N}$. So, $\frac{c}{m} - d(Tz, z) \in P$, for all $m \in \mathbb{N}$. Since $\frac{c}{m} \to 0$, as $m \to \infty$, and P is closed, it follows that $-d(Tz, z) \in P$. Also we have $d(Tz, z) \in P$. Hence d(Tz, z) = 0 and so Tz = z.

Now suppose that T has a second fixed point z'. Then from inequality (4) we have

$$d(z, z') = d(Tz, Tz') \le k \left| d(Tz, z) \bigvee d(Tz', z') \right|,$$

which is equivalent to $d(z, z') \leq k[d(Tz, z) \lor d(Tz', z')] = 0$ since d(Tz, z) = 0 = d(Tz', z') are comparable. It follows that z = z'. So z is the unique fixed point of T.

4.4. Theorem. Let T be a mapping on the complete cone metric space X into itself that satisfies the inequality

(6)
$$d(Tx,Ty) \le k \left\lfloor d(Tx,y) \bigvee d(Ty,x) \right\rfloor,$$

for all $x, y \in X$, where $0 \le k < 1$. Then T has a unique fixed point in X. For each $x \in X$, the iterative sequence $\{T^n x\}$ converges to the fixed point.

Proof. Let x be an arbitrary point X. Then using inequality (6) for $d(T^{n+1}x, T^nx)$ and noting that $d(T^nx, T^nx) = 0$ is comparable with $d(T^{n-1}x, T^{n+1}x)$ we have

$$d(T^{n+1}x, T^n x) \le k[d(T^{n+1}x, T^{n-1}x) \lor d(T^n x, T^n x)] = kd(T^{n+1}x, T^{n-1}x)$$

Again using (6) we have

$$d(T^{n+1}x, T^n x) \le k^2 \Big[d(T^{n+1}x, T^{n-2}x) \bigvee d(T^{n-1}x, T^n x) \Big],$$

and then

$$d(T^{n+1}x, T^n x) \le k^3 \Big[d(T^{n+1}x, T^{n-3}x) \bigvee d(T^n x, T^{n-2}x) \Big].$$

Continuing this process we have

(7)
$$d(T^{n+1}x, T^n x) \le k^n \bigvee \left\{ d(T^{n+1-s}x, T^s x) : s = 0, 1, 2, \dots, m \right\}$$

where

$$m = \begin{cases} \frac{1}{2}n & n \text{ even,} \\ \frac{1}{2}(n-1) & n \text{ odd,} \end{cases}$$

and $a \leq \bigvee \{a_i : i = 1, 2, ..., n\}$ if and only if $a \leq a_i$ for some *i*.

Similarly, this process applies to the terms $d(T^{n+1-s}x,T^sx)$ for s > 0, so from inequality (7) we have

(8)
$$d(T^{n+1}x, T^n x) \le k^n \bigvee \left\{ k^s d(T^{n+1-s}x, x) : s = 0, 1, 2, \dots, n-1 \right\}.$$

Using (8) and the inequality

(9)
$$d(T^{n+1}x, x) \le d(T^{n+1}x, T^nx) + d(T^nx, x)$$

we will now show by induction that

(10)
$$d(T^{n+1}x, x) \le \prod_{i=1}^{n} \frac{1}{1-k^i} d(Tx, x)$$

for n = 1, 2, ...

It is trivial from (8) and (9) that inequality (10) holds for n = 1. Now assume that

$$d(T^{j+1}x,x) \le \prod_{i=1}^{j} \frac{1}{1-k^i} d(Tx,x)$$

holds for j = 1, 2, ..., n - 1. Taking s = 0 in (8) we may suppose first that

$$d(T^{n+1}x, T^nx) \le k^n d(T^{n+1}x, x).$$

Then from inequality (9), we get

$$d(T^{n+1}x, x) \le k^n d(T^{n+1}x, x) + d(T^n x, x)$$

and so

$$d(T^{n+1}x, x) \le \frac{1}{1-k^n} d(T^n x, x)$$
$$\le \prod_{i=1}^n \frac{1}{1-k^i} d(Tx, x)$$

by our assumption.

Now taking $s = m, 1 \le m \le n - 1$ in (8) we suppose that

$$d(T^{n+1}x, T^nx) \le k^{n+m}d(T^{n+1-m}x, x).$$

Then from inequality (9) we have that

$$d(T^{n+1}x,x) \le k^{n+m} d(T^{n+1-m}x,x) + d(T^nx,x)$$
$$\le k^{n+m} \prod_{i=1}^{n-m} \frac{1}{1-k^i} d(Tx,x) + \prod_{i=1}^{n-1} \frac{1}{1-k^i} d(Tx,x),$$

by our assumption. Thus, we get

$$d(T^{n+1}x,x) \le \prod_{i=1}^{n} \frac{1}{1-k^{i}} \left(k^{n+m} + 1 - k^{n}\right) d(Tx,x)$$
$$\le \prod_{i=1}^{n} \frac{1}{1-k^{i}} d(Tx,x),$$

since $k^{n+m} < k^n$. Thus, in either case we obtain inequality (10). It therefore follows by induction that inequality (10) holds for n = 1, 2, ...

Put

$$\prod_{i=1}^{\infty} \frac{1}{1-k^i} = r.$$

Then we have $r < \infty$ and also

$$\prod_{i=1}^n \frac{1}{1-k^i} < r,$$

since

$$\prod_{i=1}^{\infty} \frac{1}{1-k^i} = e^{\sum_{i=1}^{\infty} \ln\left(\frac{1}{1-k^i}\right)}$$

and

$$\sum_{i=1}^{\infty} \ln(\frac{1}{1-k^i}) < \infty$$

Using inequalities (8) and (10) we have

$$d(T^{n+1}x, T^n x) \le k^n r d(Tx, x)$$

for all n = 1, 2, ..., since k < 1. Since $\sum_{n=1}^{\infty} k^n < \infty$, It follows from Lemma 3.4 that $\{T^n x\}$ is a Cauchy sequence in the complete cone metric space (X, d) and so has a limit z in X.

Now let $c \in E$ with $0 \ll c$. Choose a natural number N such that $d(T^n x, z) \ll \frac{c(1-k)}{2}$ for all $n \geq N$. From condition (d3) we have

(11) $d(Tz,z) \le d(Tz,T^nx) + d(T^nx,z)$

for all $n \geq N$, and from condition (6),

$$d(Tz, T^{n}x) \leq k \Big[d(Tz, T^{n-1}x) \bigvee d(T^{n}x, z) \Big].$$

Now we have to consider, for each $n \ge N$, the following two cases:

Case 1. If

$$d(Tz, T^n x) \le k d(Tz, T^{n-1}x),$$

then from (11), we have

$$d(Tz, z) \le d(T^{n}x, z) + kd(Tz, T^{n-1}x)$$

$$\le d(T^{n}x, z) + k[d(Tz, z) + d(z, T^{n-1}x)]$$

and so

$$d(Tz, z) \leq \frac{1}{1-k} d(T^n x, z) + \frac{k}{1-k} d(z, T^{n-1} x)$$

$$\leq \frac{1}{1-k} [d(T^n x, z) + d(z, T^{n-1} x)]$$

$$\ll \frac{c}{2} + \frac{c}{2} = c.$$

Case 2. If

$$d(Tz, T^n x) \le kd(T^n x, z),$$

then from (11), we have

$$d(Tz, z) \le d(T^n x, z) + kd(T^n x, z) \ll \frac{c}{2} + \frac{c}{2} = c.$$

It now follows from cases 1 and 2 that $d(Tz, z) \ll c$. For fixed $0 \ll c$, we have $0 \ll \frac{c}{m}$ for all $m \in \mathbb{N}$. Thus $d(Tz, z) \ll \frac{c}{m}$, for all $m \in \mathbb{N}$. So $\frac{c}{m} - d(Tz, z) \in P$, for all $m \in \mathbb{N}$. Since $\frac{c}{m} \to 0$, as $m \to \infty$, and P is closed, it follows that $-d(Tz, z) \in P$. Also we have $d(Tz, z) \in P$. Hence d(Tz, z) = 0 and so Tz = z.

Now suppose that T has a second fixed point z'. Then from inequality (6) we have

$$d(z,z') = d(Tz,Tz') \leq k \Big[d(Tz,z') \bigvee d(Tz',z) \Big],$$

which is equivalent to $d(z,z') \leq k[d(z,z') \bigvee d(z',z)]$. However, d(z,z') = d(z',z) are comparable so

$$d(z, z') \le k[d(z, z') \lor d(z', z)] = kd(z, z').$$

It follows from Lemma 2.3 that d(z, z') = 0, since k < 1, so that the fixed point is unique.

5. Some examples

The following examples show that if the elements of the sets $\{d(Tx, x) \mid x \in X\}$ and $\{d(Tx, y) \mid x, y \in X\}$ are comparable then Theorem 4.3 and Theorem 4.4 are more general than Theorem 4.1 and Theorem 4.2, respectively.

5.1. Example. Let $E = \mathbb{R}^2$, $P = \{(x, y) \in E : x, y \ge 0\} \subset \mathbb{R}^2$, X = [0, 1] and the mapping $d : X \times X \to E$ defined by d(x, y) = (|x - y|, |x - y|). Then (X, d) is a complete cone metric space.

Define $T: X \to X$ by Tx = x/3. Then we have

$$d(Tx, Ty) = \left(\left| \frac{x}{3} - \frac{y}{3} \right|, \left| \frac{x}{3} - \frac{y}{3} \right| \right), \\ d(Tx, x) = \left(\left| \frac{x}{3} - x \right|, \left| \frac{x}{3} - x \right| \right) = \left(\frac{2x}{3}, \frac{2x}{3} \right), \\ d(Ty, y) = \left(\left| \frac{y}{3} - y \right|, \left| \frac{y}{3} - y \right| \right) = \left(\frac{2y}{3}, \frac{2y}{3} \right).$$

Since $x, y \in \mathbb{R}$, either $d(Tx, x) - d(Ty, y) \in P$ or $d(Ty, y) - d(Tx, x) \in P$. Hence d(Tx, x) and d(Ty, y) are comparable and we have

$$d(Tx,x) \lor d(Ty,y) = \left(\frac{2x}{3}, \frac{2x}{3}\right) \lor \left(\frac{2y}{3}, \frac{2y}{3}\right)$$

and

$$d(Tx,x) + d(Ty,y) = \left(\frac{2}{3}(x+y), \frac{2}{3}(x+y)\right).$$

Clearly, the inequality (4) is satisfied for $\frac{1}{2} \le k < 1$. However, the inequality (2) is not satisfied for $0 \le k < \frac{1}{2}$.

5.2. Example. Let $E = \mathbb{R}^2$, $P = \{(x, y) \in E : x, y \ge 0\} \subset \mathbb{R}^2$, X = [0, 1] and the mapping $d: X \times X \to E$ defined by d(x, y) = (|x - y|, |x - y|). Define $T: X \to X$ by

$$Tx = \begin{cases} 0 & \text{if } 0 \le x \le \frac{1}{2} \\ \frac{3}{7} & \text{if } \frac{1}{2} < x \le 1 \end{cases}$$

Then we have,

 $d(Tx,Ty) = (0,0), \ d(Tx,y) = (y,y) \text{ and } d(Ty,x) = (x,x) \text{ for } 0 \le x,y \le \frac{1}{2} \text{ and } d(Tx,Ty) = (0,0), \ d(Tx,y) = (\frac{3}{7},y) \text{ and } d(Ty,x) = (\frac{3}{7},x) \text{ for } \frac{1}{2} < x, \ y \le 1.$

Thus, d(Tx, y) and d(Ty, x) are comparable and also inequality (6) is satisfied for $0 \le x, y \le \frac{1}{2}$ or $\frac{1}{2} < x, y \le 1$.

Let $0 \le x \le \frac{1}{2}$ and $\frac{1}{2} < y \le 1$. Then,

$$d(Tx, Ty) = d\left(0, \frac{3}{7}\right) = \left(\frac{3}{7}, \frac{3}{7}\right), d(Tx, y) = d(0, y) = (y, y), d(Ty, x) = d\left(\frac{3}{7}, x\right) = \left(\left|\frac{3}{7} - x\right|, \left|\frac{3}{7} - x\right|\right)$$

If $d(Tx,y) = (y,y) \leq \left(\left|\frac{3}{7} - x\right|, \left|\frac{3}{7} - x\right|\right) = d(Ty,x)$, then $\left|\frac{3}{7} - x\right| - y \geq 0$ and so $\left|\frac{3}{7} - x\right| > y > \frac{1}{2}$. Since $0 \leq x \leq \frac{1}{2}$, we have $\left|\frac{3}{7} - x\right| \leq \frac{3}{7}$, a contradiction. But $d(Tx,y) \geq d(Ty,x)$. Thus, we have

$$d(Tx, Ty) = \left(\frac{3}{7}, \frac{3}{7}\right) \le k(y, y) = kd(Tx, y) = k[d(Tx, y) \lor d(Ty, x)],$$

for all $0 \le x \le \frac{1}{2}$ and $\frac{1}{2} < y \le 1$ where $\frac{6}{7} \le k < 1$.

Similarly, it is easy to see that the inequality (6) is satisfied for all $\frac{1}{2} < x \leq 1$ and $0 \leq y \leq \frac{1}{2}$ where $\frac{6}{7} \leq k < 1$.

Thus, d(Tx, y) and d(Ty, x) are comparable and also inequality (6) is satisfied, for all $x, y \in [0, 1]$.

Now let $x = \frac{3}{7}, y = \frac{6}{7}$. Then the inequality (3) is not satisfied for $0 \le k < \frac{1}{2}$. In fact, if the inequality (3) holds for $x = \frac{3}{7}, y = \frac{6}{7}$ where $0 \le k < \frac{1}{2}$, then we have

$$d(Tx, Ty) = d\left(0, \frac{3}{7}\right) = \left(\frac{3}{7}, \frac{3}{7}\right),$$

$$d(Tx, y) = d\left(0, \frac{6}{7}\right) = \left(\frac{6}{7}, \frac{6}{7}\right),$$

$$d(Ty, x) = d\left(\frac{3}{7}, \frac{3}{7}\right) = (0, 0)$$

and

$$\left(\frac{3}{7},\frac{3}{7}\right) \le k\left(\frac{6}{7},\frac{6}{7}\right),$$

and so $k \ge \frac{1}{2}$. This is a contradiction because of $0 \le k < \frac{1}{2}$.

Acknowledgement The authors would like to express their appreciation to Lawrence M. Brown for suggestions that have helped improve the presentation of this paper.

References

- Di Bari, C. and Vetro P. φ- pairs and common fixed points in cone metric spaces, Rend. Circ. Mat. Palermo 57, 279–285, 2008.
- [2] Grabiec, M. Fixed points in fuzzy metric spaces, Fuzzy Sets and Systems 27, 385–389, 1988.
- [3] Huang Long-Guang and Zhang Xian. Cone metric spaces and fixed point theorems of contractive mappings, J. Math. Anal. Appl. 332, 1468–1476, 2007.
- [4] Hicks, T. L. and Rhoades, B. E. Fixed point theory in symmetric spaces with applications to probabilistic spaces, Nonlinear Anal. 36, 331–344, 1999.
- [5] Iseki, K. Fixed point theorems in 2-metric spaces, Math. Sem. Notes, Kobe Univ. 3, 133–136, 1975.
- [6] Jachymski, J., Matkowski, J. and Swiatkowski, T. Nonlinear contractions on semimetric spaces, J. Appl. Anal. 1, 125–134, 1995.
- [7] Kada, O., Suzuki, T. and Takahashi, W. Nonconvex minimization theorems and fixed point theorems in complete metric spaces, Math. Japon. 44, 381–391, 1996.
- [8] Nadler, S. B. Multivalued contraction mappings, Pacific J. Math. 30, 475–488, 1969.
- [9] Reilly, I. L., Subrahmanyam, P. V. and Vamanamurthy, M.K. Cauchy sequences in quasipseudo-metric spaces, Monatsh. Math. 93, 127–140, 1982.
- [10] Rezapour, Sh. and Hamlbarani, R. Some notes on the paper "Cone metric spaces and fixed point theorems of contractive mappings", J. Math. Anal. Appl. 345, 719–724, 2008.
- [11] Sehgal, V. M. and Bharucha-Reid, A. T. Fixed points of contraction mappings on probabilistic metric spaces, Math. Systems Theory 6, 97–102, 1972.
- [12] Zeidler, E. Nonlinear Functional Analysis and its Applications, Volume I, Fixed Point Theorems (Springer-Verlag, 1993).